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Self	
  evaluation	
  questions	
  

	
  
	
  
1.	
  What	
  is	
  the	
  responsibility	
  of	
  the	
  social	
  worker?	
  	
  

a. To	
  define	
  the	
  child’s	
  problems	
  and	
  needs	
  in	
  cooperation	
  with	
  the	
  parents	
  
b. To	
  make	
  decisions	
  independently	
  of	
  laws	
  and	
  court	
  decisions	
  
c. To	
  abide	
  by	
  the	
  decisions	
  of	
  the	
  foster	
  parents	
  
d. To	
  abide	
  by	
  the	
  decisions	
  of	
  the	
  biological	
  parents	
  

	
  
2.	
  Suggestions	
  and	
  ideas	
  of	
  the	
  social	
  worker:	
  	
  

a. Can	
  deviate	
  from	
  that	
  of	
  the	
  foster	
  parents	
  
b. Is	
  often	
  focused	
  on	
  the	
  rights	
  and	
  needs	
  of	
  the	
  biological	
  parents	
  
c. Is	
  bound	
  by	
  laws	
  and	
  legislation	
  
d. All	
  of	
  the	
  above	
  

	
  
3.	
  A	
  good	
  relationship	
  between	
  the	
  foster	
  parents	
  and	
  the	
  social	
  worker	
  is:	
  	
  

a. In	
  the	
  child’s	
  best	
  interests	
  
b. Of	
  no	
  consequence	
  to	
  the	
  child’s	
  development	
  
c. Not	
  possible	
  
d. Mandatory	
  

	
  
4.	
  Prior	
  to	
  a	
  supervisor’s	
  visit	
  to	
  the	
  foster	
  family:	
  

a. You	
  should	
  show	
  that	
  your	
  home	
  is	
  perfect	
  and	
  problem-­‐free	
  even	
  though	
  this	
  might	
  not	
  
be	
  the	
  case	
  

b. You	
  should	
  write	
  a	
  short	
  list	
  of	
  the	
  most	
  important	
  things	
  that	
  needs	
  to	
  be	
  addressed	
  
c. You	
  should	
  come	
  up	
  with	
  excuses	
  to	
  avoid	
  talking	
  about	
  personal	
  problems	
  
d. You	
  should	
  not	
  talk	
  about	
  your	
  disappointment	
  in	
  the	
  authorities	
  

	
  
5.	
  Fairstart	
  Scorecard:	
  

a. Should	
  be	
  read	
  by	
  the	
  social	
  worker	
  
b. Presents	
  topics,	
  which	
  are	
  crucially	
  deviant	
  from	
  the	
  topics	
  discussed	
  with	
  the	
  social	
  

worker	
  
c. Can	
  be	
  used	
  in	
  cooperation	
  with	
  the	
  social	
  worker	
  
d. None	
  of	
  the	
  above	
  

	
  
	
  

SOLUTIONS:	
  1a;	
  2d;	
  3a;	
  4b;	
  5c;	
  	
  
	
  


